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Above is a number grid with lots of the numbers missing.   

a Fill in the missing white squares on the grid. 

b Find the sum of the numbers that should be in the white 
 squares. 

c What is the difference between the highest white square and 
 the lowest? 

d Find the difference in the products between the lowest two 
 squares and the highest two squares. 

e Give the sum of the two products you found in part d. 

f Multiply each of the numbers found in the white squares by 7. 

g Multiply each of the numbers found in the white squares by 12. 

 


